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Sample: n-Heptanol at 50 C
- Composite spectrum (1 ppm-meter at 296 K)
1.2x10°
0.8 —
_ 1.0 -
=
2
S - 0.8 -
s 0.6-2
g £
= 3 0.6 —
2 5
B8 £
< 2
OA~—< 0.4 -
0.2
0.2 oo——JLT———ﬂ k‘~| | : :
3500 3000 2500 2000 1500 1000

Wavenumbers (cm’l) JA’\}

I I I I I
7000 6000 5000 4000 3000 2000 1000

Source: Pacific Northwest National Laboratory Wavenumbers (cm™)




Pressure (Torr)

1000 L
)
e
//
~ 760 Torr at 176 C
100 -
s
~ -
10 e
//,
J/
—
yd
| /
//
/
//
/A
0.1 /
/II
/.0.22 Torr at 25 C
//
0.01 / 1-Heptanol |
e
/’/ Vapor Pressure vs. Temperature .
/ -
0.001 / Chemical Properties Handbook, Carl L. Yaws, McGraw-Hill (1999)
/

-20 0 20 40 60 80 100 120 140 160 180
Temperature (°C)



